C:# Rewriting Expressions Name:

Rewrite each expression in its simplest form. Answers
Y (YR +13)- (VR +15) .
2.
2 (Yov-1a)- (Vv + 8) N
"
Y (70-5)- (/- 13) ;
6.
K -(3/5W+2)+(475W+12) 7.
8.
P (Vo -3)+ (LopY +20) o
10.
6)

(74E-17) - ( VysE +10)

D (Ve -2)-(YeB-4)

K ( '5/10D +13) - ( 36/40D -10)

Y (YG-5)- (VG +12)

P (Yic-12)- (Y- 4)
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ﬂh Rewriting Expressions Name: Answer Key

Rewrite each expression in its simplest form. Answers
K ( 10/20R +13) - ( 3/4R +15) L _5/20R_2
YR + 13- VR - 15 L IN-22
? (5/7v-14)-(4/7v+8) a 29Q+8
YV -14-7v -8 . 7oW+10
Y (%-5)-(Y@-13) o VYT
Q- 5- 74Q+13 Y
K ~( 3/5W +2)+( 4/5W +12) 7 5 15B16
-3/5W -2+ 4/5W +12 8 Ny 20D-3
P (Vo -3)+ (LopY +20) o - /GT
-21/27Y +3+ 15/27Y +20 10 -3/21C-8
(Vg -17) - (ViE + 10)
2 E+17- /E - 10
Y (e-2)- (VB -4)
—5/158 +2- 10/158 +4
¥ (VD +13)- (*%0D - 10)
2D - 13- 70D + 10
Y (16-5)- (N6 + 12)
4G +5-/1sG- 12
O (Fe-12)-(uc-a)
VyC-12-7,C+4
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